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KERALA AGRICULTURAL UNIVERSITY
B. Tech. (Agrl. Engg.) 2021 Admission
VI Semester Final Examination — June 2024

Dairy and Food Engineering (2+1) Marks: 50
Time: 2 hours

Fill in the blanks (10x1=10)
.................. is the principal contributor to sunlight flavor.

The membrane filtration leve] with the smallest pore size (0.000] — 0.001 pm) is called.... .
The unit of the dynamic viscosity is ....... . :

The constant rate drying period S is reached,

Write down the different types of feeding System used in a drum dryer.

How the density and Viscosity of milk affect the milk Processing operationg?
Explain the nano - filtration Pprocess.

What are the factors considered whjje planning dairy building?

What js aseptic packaging?

Discuss about boiling point elevation,

Answer ANY FIVE of the following (5x4=20)
Explain aboyt the packaging materials for dairy products,

Write an €ssay on ANY ONE of the following (lx10=10)
Explain the feed flow arrangements for multiple effect €vaporators with neat sketch, Write
down short note on vapor recompression System.
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Apple juice is being concentrated in a natural-circulation single-effect evaporator. At steady-
state conditions, dilute juice is the feed introduced at a rate of 0.67 kg/s. The concentration of
the dilute juice is 11% total solids. The juice is concentrated to 75% total solids. The specific
heats of dilute apple juice and concentrate are 3.9 and 2.3 kJ/(kg °C), respectively. The steam
pressure is measured to be 304.42 kPa. The inlet feed temperature is 43.3°C. The product
inside the evaporator boils at 62.2°C. The overall heat-transfer coefficient is assumed to be
943 W/(m 2 °C). Assume negligible boiling-point elevation. Calculate the mass flow rate of
concentrated product, steam requirements, steam economy, and the heat-transfer area.

[From the steam table: Temperature of steam at 304.42 kPa =134°C; Enthalpy for saturated
vapor at 134°C = 2725.9 kJ/kg; Enthalpy for saturated liquid at 134°C =563.41 kl/kg;
Enthalpy for saturated vapor at 62.2°C = 2613.4 kJ/kg.]
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